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Excel Answer Sheet for Economics 210

Chapter: 22

To Accompany Excel Workbook: GSSM_22PriceSearchersLowBarriers.xls

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

PriceSearcher. This chapter deals with markets in which individual firms exercise over the price it charges. Firms in this type of market face a downward-sloping demand for their product and must, therefore, search for the best (profit-maximizing) price. Ultimately, however, entry or exit leads to the zero-profit condition encountered in the price-takers’ markets developed in Chapter 21.

This worksheet shows why a price-searcher’s marginal revenue is less than the price it charges. The next sheet develops the implications of this relationship.

1.
Select any two prices from the lists provided. The two prices selected are $________ and $________. The price reduction from the higher price to the lower one results in the quantity sold increasing from ________ units to ________ units. The revenue generated from the increased quantity is $________. However, the firm must also charge a lower price on the ________ units that it could have sold at the higher price. This loss in revenue is $________. The net revenue change as a result of increasing output (lowering the price) is $________. The net revenue change per unit of output (also called the marginal revenue) is $________ per unit.

PriceQuantityProfit. This sheet, which corresponds to Exhibit 2, shows the demand curve for a price-searching firm’s product. It also shows the quantity that yields maximum profits, along with the level of profits (or losses).

2.
a.
Shift the demand curve downward so that the demand curve lies below the ATC. Under these conditions, the firm minimizes its losses by producing ________ units per time period and charging a price of $_______ per unit. It loses $_______ on each unit produced, for a total loss of $________ (per-unit loss times the number of units).


b.
Shift the demand curve upward so that the demand curve lies above the ATC. Under these conditions, the firm maximizes its profits by producing ________ units per time period and charging a price of $_______ per unit. It earns $_______ on each unit produced, for a total profit of $________ (per-unit profit times the number of units).
EntryExitEquilibrium. This sheet, which corresponds to Exhibit 3, illustrates the nature of equilibrium when firms are price takers and entry barriers are low. 

3.
a.
Set the number of firms at a number less than  50. The number of firms chosen is ________. With this number of firms, each firm can earn a _______ (profit/loss) of $________ per time period. The result will be _______ (entry/exit), causing the demand curve for each firm’s product to ________ (increase/decrease).


b.
Set the number of firms at a number greater than  50. The number of firms chosen is ________. With this number of firms, each firm can earn a _______ (profit/loss) of $________ per time period. The result will be _______ (entry/exit), causing the demand curve for each firm’s product to ________ (increase/decrease).

EfficientFirmSize. This sheet corresponds to Exhibit 4. It shows the representative firm at equilibrium. Because the demand curve slopes downward and must be tangent to the firm’s ATC curve, the ATC curve must reach a minimum point at a quantity greater than the equilibrium quantity. From this it follows that the total cost of industry output could be lower if fewer, larger firms produced the same output. This sheet uses a slightly different demand curve than the one used before, in order to highlight the difference between the ATC at equilibrium and the minimum ATC.
4.
The market equilibrium results in ATC = $_______ per unit at a quantity of ________ units produced by each firm. So each firm’s cost is $________, and industry cost is $________. Replacing the 50 smaller firms with 27.311 larger firms reduces ATC to $________, and industry cost falls to $________. (Don’t be concerned about fractional numbers of firms. A firm might operate part of the relevant time period, or a firm might produce a line of products, therefore devoting part of its resources to the one being considered.)

PriceDiscrimination. Price discrimination can take many forms, ranging from coupons and end-of-month sales by retailers, to the complex range of prices established by airlines. This illustration, which corresponds to Exhibit 5, shows a simple example. The market here is as follows. The market can be split into two parts. Those who are willing to pay $600 or more are in one sub-market, and those willing to pay less than $600 are in another. (The logic of price discrimination does not require such a neat division, but if more realistic demand conditions are allowed, the analysis must be more complex.) We begin by assuming (as is often the case) that the seller either cannot identify these buyers by sub-markets or cannot separate the two sub-markets. This precludes price discrimination. Then we allow separation, enabling the firm to practice price discrimination.

5.
a. 
If the firm cannot engage in price discrimination, its best level of output is ______ units. At this quantity the firm earns a ________ (profit/loss) of $________. 


b.
If the firm can engage in price discrimination, it can sell in the first market at the price indicated in (a), and then sell additional units in the second market. Use the scroll bar to examine the four prices considered. The price in the second market that yields maximum profits (among those considered by the scroll bar) is $________. The firm now earns a profit of $________.


c.
Given that the firm would not continue to operate at a loss, how are the people in the first market affected by the existence of the second market, the one in which buyers pay less than those in the first market pay?
Note: This example should not be interpreted to imply that firms that cannot engage in price discrimination are likely to have to shut down, but just to show the possibility. More generally, price discrimination has the effect of increasing firms’ revenues but decreasing consumer surplus at least in some of the markets.
= = = = = = = = = = = = = = = = = = = = =

Please rate the exercise set’s difficulty.  Circle one of the numbers on the scale below

1


2

3

4

5

Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

